MAT216 — Calculo Diferencial e Integral III
Respostas da Lista de Exercicios 3

1. (a) —=m/2; (b) —1.
2. (a) =1, 1; (b) 1/3,1/3, —1/6; (¢) 1, 0.
Jr—y—z+5=0.

4. 0.
5. 85 = F'(t)gs, sy = F'(t)gy.
6. f(z) = 2>

7.2y = (zv—1)/(x —y), z, = (zu+1)/(x —y), yu = (~yv + 1)/(z —y), y» =
—(yu+1)/(x —y).

8. vy = (—yv +1)/(1 +uy), v, = (=x +y)/(1 + uy), z, = (u+0)/(1 +uwy), , =
—(zu+1)/(1 4 uy).

9. fo=1/(1+2y+22), f, = =2(y+2)/(1 + 2y + 22), fu, =2/((1 + 2y + 22)>.

10. £(1/V/751)(—24, 47, —3\/7)
11. 0, 7/12.

12, ( o :g?g )



